2 Exploring Quadratic Functions

September 23, 2019 6:16 PM

PreCal 11 Ch 3 Day 2: Properties of Graphs of Quadratic Functions

Today’s vocab: vertex, axis of symmetry, maximum value, minimum value, horizontal
distance, height, table of values, domain, range
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y-INTERCEPT: where the graph crosses the ;_AXI'S (i.e., where =0 )

x-INTERCEPT: where the graph crosses the 7-ax’ (i.e., where =0 )
The x-intercep:s are also called the _Zeras )
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Introducing... The Parabola! (Continued)

Evamph 4:

For the following parabolas, fill in the table which follows.
[Parabola I : onwrs o sam | 1 [ 1 3 |
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For the following parabolas, fill in the table which follows.

Parabola
Graph

TR A
S -

Vertex (‘f ) ;)

Optimal Value i
Axis of :
Sy x =3 7<=-3
:Z:irzefs"clr’s nonre -s.2,70.¥
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True or False... (use the above for answers) -
The axis of symmetry goes through the y — intercept.q( 'l_. 9“ e ;“\"\
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axis of symmetry.
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A parabola must open up.

The y — intercept is always positive.

The vertex is always located halfway between the zeroes.

They - coordﬁ?e kthe vertex is always the same as the

The x — coordinate of the vertex is always the same as the
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How to find the equation of the AXIS of SYMMETRY
Y If you have the vertex, then x = /;
(Fn ?)
Y If you have the quadratic equation in standard form, y = ax? + bx + ¢, then
Exi y<frtt3x-10

a=1, L-3
_ - =3

= 2.7 am©
* If you have 2 x-intercepts (or-?_ points with the s‘ing-values), then take the
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Example 3: Find the equation of the axis of symmetry for each quadratic function given
the following:
a) thevertexis (-2, 8) b) y=—x?-3x+5
a=-4 L=-3
¥=-2
2'-:-—_2 = -(-3) =3 - “:g
24 2m) 2
c) the x-intercepts of a quadratic are -4 and 6 d)

Take an!
71‘:&:_2, =i 1
2
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Example 4: Sketch a parabola with:
a) the vertex of (3,4) and zeros at 1 and 5
b) a minimum value of -8, zeros at 2 and -2, and y-intercept of -8
c) azeroat (1, 0), the vertex at (3, -4) and y-intercept of (0,5)

d) the axis of symmetry of x = —2, optimal value of -3. This parabola has no zeros.
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